《大学英语B》复习题一
一、交际英语
1、 -- Shall we sit up here on the grass or down there near the water? -- ________

  A：I'd rather stay here if you don't mind.

  B：Sorry, I don't like neither.

  C：Certainly, why not?

  D：Yes, we like these two places.
答案： A
2、- Hi, welcome back! Have a nice trip?- ____________.

  A：Oh, fantastic! Fresh air, and sunshine every day

  B：Come on, I've got lots of fun

  C：By the way, I don't like Saturdays

  D：Well, I'll look forward to your phone call
答案： A
3、- That's a beautiful dress you have on!- __________ 

  A：Oh, thanks. I got it yesterday.

  B：Sorry, it's too cheap.

  C：Hey you can have it.

  D：See you later.
答案： A
4、-Merry Christmas!-_____.

  A：I hope so

  B：Really

  C：Thank you

  D：The same to you
答案： D
5、- David injured his leg playing football yesterday. - Really? _______

  A：Who did that?

  B：What's wrong with him?

  C：How did that happen?

  D：Why was he so careless?
答案： C
6、- Are you feeling better today, Jack?

- _________

A：There must be something wrong.

B：Just have a good rest.

C：Yes, thank you, doctor. But I still don't feel good.

D：Don't worry about me.

答案：C

7、- Thank you ever so much for your lovely gift.

- _________

A：Never mind 

B：I'm glad you like it.

C：Please don't say so.

D：No, It's not so good.

答案：B

8、- Would you like something to drink? What about a cup of tea?

- _________

A：No, thanks.

B：No, I wouldn't.

C：Yes, I want.  

D：Yes, I like.

答案：A
9、- What's the problem with your bike?

- _________

A：Not at all.

B：Good, thank you.

C：Nothing serious.

D：Sure

答案：C

10、- Good morning, John . How are you doing?

- _________

A：I'm pleased.

B：Good night.

C：Not so bad. And you?

D：How do you do?

答案：C

二、阅读理解
Passage 1
A characteristic of American culture that has become almost a tradition is to respect the self-made man - the man who has risen to the top through his own efforts, usually beginning by working with his hands. While the leader in business or industry or the college professor occupies a higher social position and commands greater respect in the community than the common laborer or even the skilled factory worker, he may take pains to point out that his father started life in America as a farmer or laborer of some sort.

This attitude toward manual (体力的) labor is now still seen in many aspects of American life. One is invited to dinner at a home that is not only comfortably but even luxuriously (豪华地) furnished and in which there is every evidence of the fact that the family has been able to afford foreign travel, expensive hobbies, and college education for the children; yet the hostess probably will cook the dinner herself, will serve it herself and will wash dishes afterward; furthermore,  the dinner will not consist merely of something quickly and easily assembled from contents of various cans and a cake or a pie bought at the nearby bakery. On the contrary, the hostess usually takes pride in careful preparation of special dishes. A professional may talk about washing the car, digging in his flowerbeds, painting the house. His wife may even help with these things, just as he often helps her with the dishwashing. The son who is away at college may wait on table and wash dishes for his living, or during the summer he may work with a construction gang on a highway in order to pay for his education.
(1)、From Para. 1, we know that in America _________.

  A：people tend to have a high opinion of the self-made man

  B：people can always rise to the top through their won efforts

  C：college professors win great respect from common workers

  D：people feel painful to mention their fathers as labors
答案： A
(2)、According to the passage, the hostess cooks dinner herself mainly because _________.

  A：servants in America are hard to get

  B：she takes pride in what she can do herself

  C：she can hardly afford servants

  D：It is easy to prepare a meal with canned food
答案： B
(3)、The underlined expression "wait on table" in Para. 2 means "_________".

  A：work in a furniture shop

  B：keep accounts for a bar

  C：wait to lay the table

  D：serve customers in a restaurant
答案： D
(4)、The author's attitude towards manual labor is _______.

  A：positive 

  B：negative

  C：humorous

  D：critical
答案： A
(5)、Which of the following could be the best title of the passage? ________

  A：A Respectable Self-made Family

  B：American Attitude toward Manual Labor

  C：Characteristics of American Culture

  D：The Development of Manual Labor
答案： B
Passage 2
The undersea world is very beautiful. Now more and more people want to dive in the water to find the secrets there. Scuba（戴水肺） diving is a new sport today. It can take you into a wonderful undersea world.

You will find many strange animals in the sea. Some are like a school bus. Many sea animals give out light in the dark and some have sharp teeth.

    During the day, there is enough light. Here, under the sea, everything is blue and green. When fish swim nearby, you can catch them with your hands. When you have bottles of air on your back, you can stay in deep water for a long time. However, you can't dive too deep. And you must be very careful when you dive in deep water.

    The deep sea is not an easy place to live in. It is cold, and it is dark, too. The deeper it is, the less sunlight there is. At about 3,000 feet, there is no light at all. It is very dark in the sea. Many fishes have no eyes. Some have big eyes. A few have eyes on one side.

    Besides the coldness and the darkness, deep-sea animals face a third danger - other animals.

    Animals eat! They must find food to eat. Many animals eat plants. However, some animals eat meat. This means these sea animals have two big jobs. They need to find animals as food, and they have to try not to become other animals' meal.  
(1)、People want to dive in the sea because ____________.

  A：they want to catch fish

  B：they want to find the secrets of the undersea world

  C：the sea is deep

  D：there are all kinds of plants in the sea
答案： B
(2)、In the daytime, when you dive in the sea, you ___________.

  A：can see everything green and blue

  B：can't be in danger

  C：can catch nothing

  D：can't see anything clearly
答案： A
(3)、How many dangers will animals meet under the deep sea?

  A：One.

  B：Two.

  C：Three.

  D：Four.
答案： C
(4)、When you do scuba diving, you can _______________.

  A：stay in deep water for a long time

  B：dive very, very deep

  C：live in deep water easily

  D：dive freely without any dangers
答案： A
(5)、Which of the following is WRONG?

  A：One animal finds something to eat, and it may be eaten by others.

  B：At the depth of 3,000 feet under the sea, many animals can find their way by hearing and feeling.

  C：The deeper the sea is, the darker and colder it is.

  D：At the depth of 3,000 feet under the sea, all animals can find their way by seeing.
答案： D
Passage 3

The dark smoke that comes out of stacks(大烟囱) or from a burning dump(垃圾) contains tiny bits of solid or liquid matter. The smoke also contains many gases, most of which cannot be seen. Altogether, they make up the serious problems of air pollution. In so many places it keeps us from seeing the sun, irritate(刺痛) our eyes, causes us to cough and makes us ill.

    Air pollution can spread from city to city. It even spreads from one country to another. Some northern European countries have had "black snow" from pollutants that have traveled through the air from other countries and have fallen with the snow. So air pollution is a global problem. It can kill babies, older people and those who have respiratory(呼吸) disease. In 1952, four thousands people die in one week as a result of a serious air pollution breakout in London. In 1948 in a small town of Pennsylvania, 20 people died in a four - day period of air pollution. As often found in cities, air pollution increases the risks of lung disease, such as bronchitis and asthma. Of course, smoking and other factors help to cause these illnesses, too, but these causes have increased greatly during recent years as air pollution has become worse. 
(1)、Which of the following is NOT true about the "black snow" incident?

A：It happened in the northern European countries.

B：It happened there because air pollution in these countries was most serious.

C：Pollutants that fell with snow made it dirty.

D：It is a global problem.

答案：B

(2)、Who can be killed by air pollution?

A：Earth and plants.

B：Stones and birds.

C：Those who suffer from respiratory illnesses.

D：Both A and C.

答案：C

(3)、How many people died of air pollution in Pennsylvania in 1948?

A：4,000.

B：20.

C：None.

D：4020.

答案：B

(4)、What are bronchitis and asthma?

A：Different types of headaches.

B：Lung disease.

C：Heart diseases.

D：Different types of stomach aches.

答案：B

(5)、According to the passage, air pollution increases people's chance of getting ______?

A：Headache.

B：A lung disease.

C：Stomachache.

D：Nervous breakdown.

答案：B
Passage 4
As long as the sun shines, the earth will not run out of energy. The sun pours more energy on earth than we can ever use. Most of that energy comes to us as heat and light. Energy from the sun is called solar energy.

    Anything to do with the sun is called "solar". The word began with the Roman word for the sun and their god of the sun, who was called Sol. Solar energy is a safe kind of energy. It doesn't make pollution or have dangerous leftovers. That is why scientists and investors are experimenting with ways of harnessing（治理利用）the sun to do some of the jobs fossil fuels have been doing.

    But to make the sun do work like that, they have to solve some problems. They have to collect the sun's energy. Collecting sunshine is not easy, unless you are a plant. Sunshine is not easy to store, either. You can't fill a tank with it or put it in the wood box. You can not move it through a pipe or a wire. You can not just turn it on. 
(1)、What form does most of solar energy take to reach us?

A：Light.

B：Heat.

C：gas.

D：both A and B.

答案：D

(2)、Where does the word "solar" come from?

A：Greek.

B：Roman.

C：Old English.

D：Chinese.

答案：B

(3)、Which of the following is NOT true of solar energy?

A：It is a safe energy.

B：It is a green energy.

C：It may cause pollution to the air.

D：It is endless.

答案：C

(4)、What are the problems facing scientists who want to use solar energy?

A：It is not easy to collect.

B：It is not easy to store.

C：It is not easy to find out.

D：both A and B.

答案：D

(5)、What is the writer's purpose of writing the passage?

A：To give a brief introduction to solar energy.

B：To explain the reason why it is not easy to make solar energy.

C：To give information about the advantages of solar energy.

D：To give a brief introduction to the word "solar".

答案：A

Passage 5
The ideal teacher may be young or old, tall or short, fat or thin. He should know his subject, but he can make mistakes if he is willing to learn. His personality is as important as his scholarship. The ideal teacher must be enthusiastic. He must never teach anything he himself is not interested in. He should be a bit of an actor and he should not be afraid to show his feelings and express his likes and dislikes. He must like his students and respect them, but he must also respect himself and take pride in his work. Otherwise, he can not respect his students and win respect from them. The ideal teacher should have an understanding of his students and be able to relate to them. He needs students' understanding, too. The ideal teacher should be kind, encouraging, and helpful and he should motivate his students to seek knowledge. The ideal teacher should see his students as individuals and acknowledge their differences. He must know how to encourage the self-development and growth of each of his students. The ideal teacher is one who grows, learns, and improves himself along with his students.
(1)、Which of the following is the least important in judging an ideal teacher according to the passage?

A：His age and appearance.

B：His personality.

C：His scholarship.

D：His attitude towards his students.

答案：A

(2)、Can an ideal teacher make mistakes?

A：No. He should be very careful not to make any mistakes.

B：Yes. Because he knows too little.

C：No. He should always be the authority to his students.

D：Yes. But he should be willing to learn.

答案：D

(3)、What relationship should be set up between an ideal teacher and his students according to the passage?

A：Mutual respect and understanding.

B：Mutual encouragement and help.

C：Mutual aid and affection.

D：Mutual support and inspiration.

答案：A

(4)、How does an ideal teacher view his students?

A：As talented young people.

B：As different from each other.

C：As self-centered individuals.

D：As understanding, respectful individuals.

答案：B

(5)、Which of the following can be inferred from the passage?

A：An ideal teacher should seldom set an example for his students.

B：Teachers and students benefit each other in the process of teaching and learning.

C：Students should never expect their teachers to be ideal.

D：Anyone who is trying to improve himself constantly is an ideal teacher.

答案：B

三、词汇与语法
1、Professor, would you slow down a bit, please? I can't _______you.

  A：keep up with

  B：put up with

  C：make up to

  D：hold on to
答案： A
2、_______ these honours he received a sum of money.

  A：Except             

  B：But             

  C：Besides          

  D：Outside
答案： C
3、There's lots of fruit _____ the tree．Our little cat is also ______ the tree. 

  A： in；in


  B：on；on  

  C：in；on

  D：on；in 
答案： D
4、No matter _____ , the little sisters managed to round the sheep up and drive them back home safely.

  A：it was snowing hard

  B：hard it was snowing

  C：how it was snowing hard  



  D：how hard it was snowing
答案： D
5、--____I put my coat here? --Sorry, you ______. 

  A：May; mustn't

  B：Do; don't

  C：can; needn't

  D：May; can't
答案： D
6、How ______ you say that you really understand the whole story if you have covered only part of the article?

A：can       

B：must

C：need      

D：may 

答案：A

7、The children _______ play with them.

A：want that I   




B：want me for      


C：want me to     



D：are wanting that

答案：C

8、James Watt ______ the steam engine.

A：was inventing   




B：invented        


C：had invented     


D：has invented

答案：B

9、A long time ago, I _______ in London for three years.

A：had lived


B：have lived

C：lived

D：have been living

答案：C

10、She _______ 100 pages of the book today.

A：has already read

B：already reads

C：already read

D：was already read

答案：A

四、完型填空
1、  In England nobody ___21___ the age of eighteen is allowed ___22___ in a public bar. Mr. Thompson used to go to a bar near his house quite often, but he never took his son, Tom, because he was too young. Then when Tom had his ___23___ birthday, Mr. Thompson took him to his usual bar for ___24___ time.

    They drank for an hour, and then Mr. Thompson said to his son, "Now, Tom, I want to teach you ___25___ useful lesson. You must always be careful ___26___ drink too much. And how do you know when you have ___27___ enough? Well, I tell you. Do you see those two lights ___28___ the end of the bar? When they seem ___29___ become four, you've had enough and ___30___ go home."

    "But Dad," said Tom, "I can see only one light at the end of the bar."
(1)、


  A：at

  B：on

  C：under

  D：about
答案： C
(2)、


  A：drinking

  B：to drink

  C：drink

  D：go
答案： B
(3)、


  A：eighteenth

  B：the 18th

  C：eighth

  D：/
答案： A
(4)、


  A：the second

  B：1st

  C：the first

  D：one
答案： C
(5)、
  A：a

  B：an

  C：the

  D：some
答案： A
(6)、
  A：to

  B：to not

  C：not to

  D：aren't
答案： C
(7)、
  A：drink

  B：had

  C：/

  D：got
答案： B
(8)、
  A：in

  B：at

  C：by

  D：to
答案： B
(9)、
  A：to

  B：to have

  C：to had

  D：and
答案： B
(10)、
  A：will

  B：should

  C：shall

  D：have
答案： B
五、英译汉
(1)、I think our dream will become true.
(2)、Bill hit his car into a wall last night.
(3)、You needn't go there anymore. He already knows about it.
六、写作
(1)、My Favorite TV Program 
1. 你最喜欢什么电视节目？
2. 你为何喜欢这种电视节目？ 
(2)、Instructions:建议你在30分钟内，根据下面所给的题目用英语写出一篇不少于80词的短文。
About TV Ads

(3)、Instructions:建议你在30分钟内，根据下面所给的题目用英语写出一篇不少于80词的短文。
About Doing Physical Exercise

(4)、Instructions:建议你在30分钟内，根据下面所给的题目用英语写出一篇不少于80词的短文。
My Activities in Leisure Time

(5)、Instructions:建议你在30分钟内，根据下面所给的题目用英语写出一篇不少于80词的短文。
My Ideal Job
